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On calculation of UE processing time
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BACKGROUND

» Faults with current formula:

—2048+144 part only considers symbols with 144 length CP, while
every 7" symbol will use 160 CP

— Timing advance incorrectly captured, one cannot add timing
advance to the time “after the last symbol of the PDCCH”

(Also timing advance is only partially captured, does not include
the NTA offset)

> Note that the current agreed N1 / N2 values are right on
the border determining if we can do ACK / PUSCH in next
slot. So this error makes a clear difference!
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cXAMPLE FOR N2=6

End of last of the PDCCH carrying
the DCI scheduling the PUSCH

N2=6 symbols after the last PDCCH carrying

(NTA+ Nta offset)Tc the DCI scheduling the PUSCH
DL @ UE
UL@ UE | | RUSCH
e

Next UL symbol with
current formula

Start of next uplink symbol N2 symbols after Current 38.213 formula ends up here,
the last PDCCH carrying since it adds TA
the DCI scheduling the PUSCH

(allowing for >= N2 symbol processing time)
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PROPOSAL

» Discuss how to update the forumla
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